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BC-5707 Seat No.

B. Com. (Sem. V) Examination
May/June - 2014
CE-301B - Fundamental of Statistics - III
(New Course)

Time : 3 Hours] [Total Marks : 70
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dqadl (18 7 = 20x + 10y« A 22l 2@l sl avinell 53,
HeTd oldl. N ) N N
x4 1> 30 () Z=2x+x, DA ukioidl 20l Riasudl A e
X+2y<40 aydy el
4x+3y =60 X), Xy 20
x,y=20 3x +x,=3
uql 4x) +3x, 26
¥ (2) el 2l e An2dl 2 de oulbilis @zu v <4
oL, R
(o) dqasll RAY 7 =5r+7p (AU WA 2qeell & = =
Risasu-l dd ~yrtan sl E; E; ENGLISH VERSION
x,y20 g =
x+y<4 é é Instructions : (1) Right sided number indicate marks of
3x+8y<24 3‘ g‘ the question.
9 & (2) Statistical table and graph paper
Sx+2y210 © =) ;
=3 =3 should be provided.
v () wendl : Y % E (3) Simple calculator can be used.
[¢] [}
~ =] =]
(1) ws ua 2 2l = = 1  Give any four answers of the following questions : 14
(2) (gl (1) Explain Degree of freedom and Significance
. . level. s . ine.
() Z=3x+4x, — x4 QA A 20l Rrdsidl e evel. https:/fwww.hnguonline.com
Ad e oudl, (2) State the limitations of %’ -test.
o X35 43 20 (3) State the assumptions of linear programming.
2 #3027 (4) Explain Feasible solution and Optimum
~3x +2x, +4x; <5 feasible solution.
2X = 2x, +3x; =1 (5) Define Artificial variable.
4l (6) Define Dual problem.
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2 (a) Define partial and second partial 5 (b) Solve the following problem using graphical 8
differentiation. method
Iyl o= Oz Maximize Z=20x+10y under the following
(by If z= 7 then obtain = and P 4 constraints.
N o N 3x+y =30
(¢ Determine f(x,y)=x"+3x"y+xy"+)° is a 5
x+2y<40
homogeneous or not, if is it homogeneous then
test Euler's theorem. dx+3y =60
x,y=>0
3 (a) Explain the test of independent of attributes. 5

(b) After tossing 9 coins 512 times the results 9 OR

and following, upon it can we say that the data
tends to binomial distribution ?

Head:|0123456789
1

4 (a) Explain the meaning of linear programming 5

and state the mathematical format of its.

(b) Solve the following problem using Simplex 9
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method :
OR e .
Minimize Z=5x+7y under the following
3 (a) Explain 77 -test and state its application. 4 constraints.
(b) What is Yates correlation. 3 X, =0
(¢) From the following data decide the relation 7 x+y<4
between Intelligency and Religion : 348y <24
| Hindu | Muslim | Churistian
S5x+2y210
Intelligent 25 5 | 20
. . - 5
Unintelligent 15 15 20 5 (a) Explain : 5
4 (a) Explain the meaning and application of 6 (1) Slack and Surplus variable
linear programming. (2) Degeneracy.
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(b) Maximize Z =3x +4x,-x; under the following 9
constraints using Simplex method :
Xp, Xa, X3 2 0
2x 3%, —x3 27
=3x) +2x, +4xy; <5

2x) = 2xy +3x3 =1

[

OR

5 (a) What is Duality ? Compare primal and 5
dual problem.

(by Minimize Z =2x,+x, under the following 9
constraints using Simplex method :
Xy, X, 20
3x +x, =3
4x,+3x, 26

X+ 2x, <4
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